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General Instructions :

66/2

(i)  Answers to questions carrying 1 mark may be from one word to one sentence.
(ii)  Answer to questions carrying 3 marks may be from 50-75 words.

(iii) Answer to questions carrying 4-5 marks may be about 150 words.

(iv) Answers to questions carrying 6 marks may be about 200 words.

(v)  Attempt all parts of a question together.

‘et fafies’ o8 Saarel & =R § offt U e R | 9% 39 3cmel S U @
T LAl B TUT 57 foeett < fafy=r wrni & St 8 | U w1 qd ueh giemon smefa
Frot B feafires’ 3 UE & axgat 1 oft & wy feoeft & SR # yaw T | gfemn
anaTia “afen ferfiee’ & yow & Suadua fafies’ 6t wrisfia g6t 6t stawrendst w
TS AT UWE H Iooi@ HINY | HIY & Siueed fdfiees o wrRia gt
STTATIHATS ol THTFId i ATel T hl AW ST |

VXL Ltd. is a company dealing in dairy products. It procures these products from
Rajasthan and sells them to various parts of Delhi. A month before ‘Merio Ltd.’, a
Haryana based company entered Delhi market with a similar range of products. State
the impact of entry of Haryana based ‘Merio Ltd.” on the working capital
requirements of VXL Ltd. Also, name the factor affecting the working capital
requirements of VXL Ltd.

s forgpe Fmfar et @ SR 3 Toren 9 favanstt W snuria fafte @ %
forepe SToTR # e fope S8 ‘st forepe’, wefig dieer’, “shiehl Siieft’ geemmfe |

foepe & Yhal & oot o=t 9 faftm o & 9 qon foegpel & faftm @l =
I3 HI ST R R Y |

IR AT ST % Gl BT i TE=H HITT |

‘My Bakery’, a biscuit manufacturing company, launched biscuits with different
flavours based on quality and features like ‘Crunchy biscuits’, ‘Sweet Potato’, ‘Coffee
Jolly’ etc.

The labels on the package of the biscuits are with pictures and different colours
indicating and specifying the flavours of the biscuits and their contents.

Identify the two functions of labelling discussed above.
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Teh G134 o “HicH aid o a1 A 8 ?

What is meant by ‘functional structure’ of an organisation ?

Sio ferfies qo § e soiagifam Icarg) st ueh fmioft et 2 | 98 e 3T g,
T -3uehtuTl, SATSATTH 3TTTG SRq3T H A GHL 3T U™ & WETsd %iF 311G § SR
H 2 |

HH 1 TS e o1 e 3ared, fauve e fom & -y ey 9 ) wsft
HIATCTh L& TG h! CEE hid ¥ T FHI—FHI T ITeh! TIaIeri sl TR &l
STt oft | 36 RO TR ¥ TR SHiSHTSAl a1 Aarauri foare s mu | fafdmear =i
FgTaT & o foTu shroft & g sl stfereerdt, a3 qeaest, Efia-3ueston, difeaeqm
3T 1 Hifear quT U o HiGTSA B i IUHE Soiagi-ad o SF=HId aiehd
A 1 Tl forem | T ek a4 ey o Uk il i ufshAT W Ush =T o fsare
fomarm | 39 =ror Y v AT |

Zamon Ltd. is manufacturer of electronics goods based in Pune. On one hand it deals
in items like books, music instruments, videotapes etc., and on the other hand it deals

in laptops and mobile phones.

The company had a functional structure with separate heads for production, marketing
and finance. All the functional heads were looking after the products, but at times their
activities overlapped. This led to problems related to coordination and inter-
departmental conflicts. To facilitate specialisation Ramit, the CEO of the company
decided to group books, music instruments, videotapes etc. under ‘Media’ and laptops
and mobile phones under ‘consumer electronics’. While doing so Ramit has performed

a step in the process of one of the functions of management. Identify the step.

Fras fora wenr srffaaan o Sifien o e st g ?

How does planning reduces the risks of uncertainty ?
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6.  ‘Amf A JBEH e o hl MU ITART Ieqme) o Ugiforam, gt o1 dt, Terdish
ZoTfe o USHI0T T IShIoT H HoTd Uk <) hFoHl 8 | 36 JAfdenial 8 37=a] ©afd ared
H A B | T8 AR o ARid & 2 71 i €9 8 39 LRG]Sl AT 6
YT HLA & | Toh TS o foeiien 2 36 g Sfdia shrIsiiel Yoil <hl STevaehal & |
30 39 TR 1 YIaH 91 | 3713 TEH o I A hl GUISHT 8 | T o1 foreiar yaersh
AT =7, STfoTfSureh Seh & ford 9w ot <hl shifarfres STearwareRdtaT # &1 U1 =man |

e difse fop st STt stfafea swrisier Ol saveskarati i qfd =g sTeveEs
for 8 I | 1

‘Vani Oil Refinery’ is a large company, engaged in processing crude oil and refining it
into more useful products like Petroleum, Kerosene, LPG etc. It has build good
reputation over the years. It has been consistently earning profits and paying regular
dividend to its shareholders. It needs additional working capital immediately to
finance a project. It expects to return this amount after seven to eight months. Ashish
Batra, the Finance Manager of the company does not want to get into procedural

requirements of securing finance from a Commercial Bank.

Suggest how the company can raise the required finance for meeting its

additional working capital requirements.

7. Toqum-fas =61 2198 i | 1

Give the meaning of Marketing Mix.

8. e HEdHl o T AT N § a1 Ta-e a5 i =rEdt & b ofaen dewi W Ak e
T8 A1 HEaT foramor 1 S © S[@e ST 7 39 3T ok THYE H HRU G | 1
If the company has enough funds and the management also wants to have greater

control on the channel members, which channel of distribution should the company

adopt ? Give reason in support of your answer.
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forlia v & &1 O fomive o 9, A9 AR °THE *I, T 95 gfEieHT & o
Toraent o1 WiE T 8, Th 3-Ad Well | JEfU A 3 1 off, ues vt vt o i
ST AT, Afehd TR oft 98 oot H 9o 95d 9 Ieql < artaeh 37 i T8 99e o | 98
forcita sraver o & foriost ot =& o | 31 &1 &, 0l o 5 Wl hT G B W
ST W 38 TehR & ek R o1 o6 3o srga -t amyfat o1 g feeh R wew 1 31
= g |

(31) oTEH 6 §-Te1 & FEINoT <hi g1 i snensti & ygam i |

(§) g g Afeorsy H 3794 FEINT hl TGSl S B STed (31) § e T
ST 1 QLT aTcl Teheal G1 SUTAT o1 Ieei SHiTT |

Lakhan, an expert in the area of Financial Management, sent an e-mail to his
subordinate Thomas about a new project for a client in France. Though, the mail was
in English, a language known to Thomas, he was not able to understand the actual
meaning of many words used in the mail. He was also not a specialist in the field of
Financial Management. Not only this, some portions of the mail were translated from
French to English in such a manner that many mistakes crept in, causing different
meaning to the message.

(a) Identify two specific barriers to communication in Lakhan’s e-mail.

(b) State any two measures which can be taken by Lakhan to overcome the barriers
identified in part (a) above to improve in future the effectiveness of his
communication.

IJAIFATSHT b IV § JTHIHAT—ELETU o WEwd o {ohwal o1 (g3 ol HHATST |

Explain any three points of importance of consumer protection from the point of view
of consumers.

e fafiee & fog yeras ey @i qen yery fgws ‘31qa =uet’ 31 ada
T & MR 7 ford Tl 3 & Hid & favg  a=i @ 9 | oew s
@ aul 4 5078 37k §¢ A1 g’ ol 3¢Yd LA g ATt WA F gera fean b wwar &t
TTTHehaT &f ST Safeh 3TqS AIST 36YT S Toehed =TgaT o7 |

I <t I T SANTAT bl €T § WA 5T TAHT EIH o YRR &g ST
fopu S aret ferd—wra w1 gema i | @ fole o % fore e A @ 9= 9t 7
R b i THTSY T T 3T | TehTeT ST T 8 |

Neelabh Sarin, the Finance Manager and Atul Chopra, the Managing Director of
Ghokerns Ltd. were discussing regarding the source of finance to be raised for
modernisation of their existing plant. Quoting that ‘Sensex has soared by 5078 points’
in the last three years, Neelabh Sarin suggests that equity should be preferred while
Atul Chopra wanted to opt for debt.

Keeping in mind the high operating costs of the company, suggest the source of
finance that should be used for modernisation of existing plant. Also, explain the two
factors highlighted above which should be kept in mind for taking this decision.
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‘S Toheiehtor’ # 1 STTERI W 3TaHE SHhifT -
(i) ST Sl Tad=rar; (i) Feafa e (i) 32w
Distinguish between ‘delegation’ and ‘decentralization’ on the basis of

(1) Freedom of action; (ii) Status and (iii) Purpose.

‘Y T W1 o Afdfed wH=iE ol 3REiE w@ & foe fao S1 g foegl da foda
Teh! oh1 Joild SHIfTT |

State any three financial incentives other than ‘Pay and Allowances’ to motivate

employees.

T T’ & qarq Y4 o T3 sl <6t ufsharn # fofe S arel =/t sl a9esT |

Explain the steps to be followed in the process of controlling function of management
after ‘Setting Standards.’

w.t.un. fafies 3 feame vew & e fuse &9 ° S8l @R gry 3nfis gerar SeH i
ST R AT S TN GU T IUAH 7, Toh Sollageh STHTI o FHIV 1 HRGHT ST
femar |
g o¥ ° & v um. ffiee 31 IrE) i HH ANTd W 3T ik T Ty
IR T | TheT 55 | THHT HRUN AT HUATRAT o SFTUHR T IAGIRIcal hl AT i
Tse T U qRATINA HET qUT T o ety wener &g fafv= favm & wfafafet =
THTA Td Thishd AT | HET o ICITG Ta-Ueh i o Hedl T el HIA hl IucTsdd
2q T ITYfciehal o1 off a1 =el | 39 ITHIGH =g 38 HEUHT b Ja-o-Tigereh ol U 1
o | iRt 38 STAIfea U a1 o yaueh & fod W< & o SRifaides faawsi o
SHIOT HATC &} TET 1 Feh |
(%) WIS & I YHR hl TgaH hHifore fraes HRo wRIfafred faoms gu aun s
A TeA] T heAT WA T i 1 ATH &l 31 Tehl |
(@) IWF (%) H TgIH T TS &b YR o Teh o b1 Jeoid <hitre, fehl ==
I fefd H T8 FI TS 7 |
(M) ... fefide gr | i SRt fohu 7T fohgl € Jei o1 ¥ Sooig hifT |
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A.V.M. Ltd. set-up its electric appliances manufacturing factory in a backward area of
Himachal Pradesh where subsidies are provided by the government and labour is
available at cheaper rates.
A.V.M. Ltd. was able to produce its products at low cost thereby generating enough
profits in the first year itself. It was because of the fact that the limits of authority and
responsibility of the employees were clearly defined and the activities of various
departments were co-ordinated and integrated. The Production Manager of the
company also came to know about the availability of raw-materials at cheaper rates
from a vendor. For this he wrote a letter to the Managing Director of the company for
getting sanction. But because of procedural delays in getting this sanction and
procuring funds from the Finance Manager, the order could not be placed.

(a) Identify the type of organisation, that led to procedural delays and because of
which the company could not get the advantage of procuring raw material at
cheaper rates.

(b) State an advantage of the type of organisation identified in (a) above other than
those discussed in the above case.

(c¢) Also, state any two values communicated by A.V.M Ltd. to the society.

JTEHSTHTE % Teh SciTe Ud TIeH “ThSd Eicg’ & sie qeet 3 gt oM e 38 Tt
forafia s o1 eEm 3T foha |

39 99 % Yk A1 o fore fafaanfora gl w 20% e 1fsia s =g srememETg & fafir=
T W i yer 6t fargan <t fersht & qafgam <t e o8 |

T 99 10% <hl Fgiad] o 1Y I8 Id9M o9 o fet  20,00,000 <A1 Tosha @ faifa
foram |

3k I 38 3 AYfihaiati o =94 ag UM Heifa fpu S8 a8 e ura
33 BT | FRIISH Tl g7 TUT ST 37T &1 bl JTed i § The &l Tehl |

(31) 3T § Ufedal ol 3¢Yd L §U Toheal &l JhR hl AT oh! T&=M hHITT |
(d) IUUed () T Tg=HT T8 TSI o Tehili ot 37¢f +ft S |

Vardan Patel started the business of preparation and supplying sweets through home
delivery at a production cum show-room ‘Express Sweets’ at Ahmedabad.

He made a plan forecasting the sales of different types of sweets in various
localities of Ahmedabad for each month of the year to earn a profit of 20% on Capital
employed.

He set a sales target of ¥ 20,00,000 in the current year with a 10% increase every
year.

He then set the criteria for selecting suppliers from whom he would make
purchases of raw material. The planning paid off and the business was able to achieve
its targets.

(a) Identify any two types of plans by quoting the lines from the above.
(b) Also give the meaning of the types of plans identified in part (a) above.
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o TSI o Terel =R =wrt <hT 9l <hifST |

Describe any four functions of Financial Market.

WO AT T U % fou stemEd ot | we widfen @t off fh s
Hrf T @ ITfE 31Tt SHhT A B 9 for ek fteat s shelt et B | 31 wrftatin
31T 1 IgH o foTe 38 U fefha-aan yry % &1 fofa foram | 316 o 3o haet ug |
A fefth it Teetts et 3Ry fopar | 1ot |t & feram-fomst & uwenq =@ wfafer wism =
o T T St o | T e R S ghe B R e T
IT-GX FIATHS TRl IR fohalT, 38 SUERN 91 36 <o FHER-UAT & HTeam 9
e 3y fopa | 3Em feftha 3 ferawor 2q <) forawor S5 et weani <1 oft Frgfara <t |

A H AHT T AT, 9] 916 H I8 TR 9he AT | TUH HIE H 98 3T

20% T AR B T T T8 |

() UM o1 T Tl Fanati < SR o Teifyd o o foTe | gry SwareT ® g
TS Srefci -~ ferfer i e <hifT |

(@) I3 vd qara o fauue % fore 3wt () ¥ g 18 vada-fafy & e =
RT3t T Ieore HIT |

Sara was pursuing her graduation. Everyday she saw her mother working tirelessly at

home after coming back from her work-place. She decided to start a tiffin service to
increase her family income. To begin with she started supplying tiffin only in the
neighbourhood. Everyday she detailed out the menu after consulting her mother. For
informing the people about her service she designed a beautiful informative pamphlet,
got it printed and started distributing it through the daily newspapers. She also
appointed two delivery boys to deliver tiffins.
The business was slow to begin with but picked-up well afterwards. She was
able to earn a profit of 20% of the revenue in the first month.
(a) Identify the promotional tool used by Sara to communicate to the customers
about her tiffin service.
(b) State any three roles of the promotional tool identified in (a) above in marketing

of goods and services.
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1o TTEAfien formers wied U S < UETd, 15 99 6l oy # Sfae 1 e sie fo
3R 379 Toar o 37efiT wfreqor wmeq ST 3Ry K fean | 3ok T, v gufig festeft-
et 9, e sga-+ wrafaei o el foran o | 39 wfafea o1 fuar & a1y %™ W
ST 3TRY o feam 3R 98 3= &1 & §U 95 9OF 9 ¢@dl o | Sfag s arm
HfaRgan o 3t 98 H1F FI el ! Tog & HE@ T | 39 S o fidn 3 30 e
% Ta-U faEm 3TRY = e | 9w o W Y-y Sfae | 39 Wl e I
o 3T $ER ¥ T guftg fosell -l 57 T | 2 SmaEnies @ 8 foselt 6 ar
ZTeT o 1T 38 germm 3Ty K feam |

() S ITTTE H Araa Tireger <hi fafer s 9 sawv |

(@) TTTeIor YTed hA o UYEITd S ol U B a1l fehegl ofiFl el b Seoid <hIfT |

After passing his secondary school examination, David left the school at the age of 15

years and started getting training under his father. His father, a renowned electrician,
had worked for many companies. He everyday started accompanying his father on
work and watched him carefully while working. David was a good learner and learnt
the techniques of work quickly. Now his father started passing on the tricks of the
trade to David. With the passage of time David acquired a high level skill and became
a well-known electrician at Indore. Big business-houses started calling him for
electrical-wiring.

(a) Name the method of training discussed in the above para.

(b) State any three benefits which David could get on being trained.

dram fafiee wes sgusdia wmefl st 3 foss genes aifire €. § 7 | 98 T
% farfir= 27t & st b TSR e et 2 |

Ig Ueh UHT Hrol 8 e sHeh SRRl qHiewur, da- a7 forehtd hl GureTsti o R
WM R T o WA @ & | HEH I G -TEEU-Ehd @ a1 fafi= <o o A
TeuTd I AraraweT § Jy-41 %R i & | A fIfieg & Jaweeh gamTe qun = W
SR g & foreeh grr st § st qen et gifeaa et 2 |

IE THE °h TCH| H YL [owaTe T ST9-0 <hl HTaHT i i TicdTfed i & | 39 JhR
THE T ol T Hieh ala fIfiies 319 LTl b1 I i H Thet g5 2 | THT Hish
& fafires & varreh To o $o gl o Faig R E |

T ol < fagr=di <At wgei o wmEsT |
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Deewan Ltd. is a multinational consulting company with its headquarters at
Washington D.C. It hires young people from different countries of the world.

It is a company in which people dream to work because of its work-environment,
pay and growth prospectus. The company has a culture of open communication and
people of various nationalities work together in a discrimination free environment. The
behaviour of managers of Deewan Ltd. emphasises kindliness and justice which
ensures loyality and devotion of workers.

It also promotes mutual trust and belongingness among team members. In this
way management of Deewan Ltd. is able to achieve its objectives by promoting team
work. By doing so Managers of Deewan Ltd. are following some principles of
management.

Identify and explain any two such principles.

T WAL % S9, ST Ty & fore grfiemes g, 31ue g | u1g I areft srei-gfe
ITART hieh MG - YU IcATCH hi Teh hrdH! Ciwieh fAAICE <hl TATIHT Sl | 3G h1
Uohs TTaRofi - o 9 36 W ged, uTA, STqasqy, SWIT-ag - ey qen 3= wefa
T3 1 faawor o1 | 38 W g IuieT-Sansti qun Rekr s % TFes faawo
S T, T e a1 3-He sl off off | R ST AR B T T 3 PTG
ST & STeE e 3Ty &1 |

(%) ST Tfeid ITHFTSI b Foheel Gl STTUHRT hl Tg=H HIfSTT T I TS |

(@) o Tl g gl o1 off Ieor@ it A gf<rep fetfirde grn Tmm o1 amifya fohe o

gl

Aditi set-up a company ‘Dantik Ltd.” to manufacture toothpastes using herbs found in
her village instead of chemicals that are hazardous to health. The package of the
product was eco-friendly and had details like price, quantity, ingredients, directions for
use and other relevant information. It also carries the contact details like address,
phone number and e-mail id of ‘Dantik Consumer Services and Grievance Cell’. The
toothpaste became very popular and she started getting orders from reputed traders.

(a) Identify and explain any two Rights of Consumers discussed above.
(b) State any two values being communicated by ‘Dantik Ltd.’ to the society.

T i forgl g foRaiati =1 3ot HifST |

State any five characteristics of co-ordination.

“Fa - T - w1 o 31 @ 7 39 SR # =3 whasfosi W et i fafie fafeen
AT |

What is meant by ‘New Issue Market’ ? Explain the various methods of floatation of
new securities issues in this market.
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A T ! BT GRT T o & § dofl & g3 I o T FAH A9 Teh SIS Hl
JTferssh R T TorehTe fopam T B e 38 319 I Tsg <hl ATIehal ITed &1 oTed! 2 |

THH TS o T 9L TR o ST hi el 3eq=1 81 7T @ | G Sieh T @A
vt TR < I HIAT & TAT AN oh THT o I Hi <A1 & | Tg 3T A -SaciHi bl 3T
ITHTSATSAT o GISCRIVT, SUSATRT Sl TR TT S shi TUE T $Heh THTE oh GISTd 39
fowar o1 "EyHigEs quEET B | ke, TS AT S ') W fafie sefEn aen
TSR] o STCEN a1 HUR o HTeI| ¥ WRA TR THa a0l 7t oI < 3TarT &

Hoi B Ueh Ao Heequl Yfren! o1 Fafg w2 |
SR SR wateR % it S B T R |

Ioierd ¥ Hferal ol 34 hAd 5T fohal i STRITHT <hl Tg=H <hIfTT T 376 THTST |

With rapid advancements in the field of replacing manual work with machines, a robot
named ‘Sujan’ has been invented and developed and is likely to get the citizenship of

the country of its origin.

It has led to a stage where machines are being used in place of human beings.
‘Sujan’ is doing all types of work whether routine or hazardous and even answering
the queries of people. However, this issue has to be carefully looked into keeping in
mind the consumer attitude towards product innovations, problem of unemployment
and its impact on the quality of life. Through the orders and decisions of various
commissions and agencies at Centre, State or local level the Indian Government is

playing a very significant role in balancing the use of human and machine power.

Various dimensions of business environment are being discussed in the above

para.

By quoting the lines from the above identify and explain any three dimensions.
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‘T seifeeam UTgae fofies’ o Hetaes Jerush o <1 Ue fad 9 | AHa SE1eE Jeus i’
TS % ST H g Teh U Mol ‘fovare’ it qga™ i aU1 3 HEeh JEh o Ug T
TEId TG | GEX UG o ToTq Sreareh 0Tel o Uoh TATOH TSI <hl Wl off de ‘geltd’
1 =T T | ®: Arg uwErq w3 <@ fob fava’ 1 fsared ‘wefin’ o fsarea =@
TEA T, T “Togamd’ st T G| 8 A off | 31d: arel’ 3 foly foen fo6 vl g a8
foreft Tedt € & 13 Ffaa &1 sham |

TY fohgl =R SHRUTT oh! AWENTST ek STER W el 3 Iutie ot forem grm |

There were two vacancies for the post of Assistant Manager in ‘Gyan Electrics Private
Ltd.’. ‘Parth’ the Human Resources Manager identified one suitable candidate
‘Vishwas’ from within the organisation and promoted him to the post of Assistant
Manager. For another post, the Manager ‘Parth’ took help of a placement agency and
selected ‘Saleem’. After six months, Parth observed that ‘Vishwas’s’ performance was
much better than ‘Saleem’s’ performance though ‘Vishwas’ was less qualified than
‘Saleem’. Hence, ‘Parth’ decided that in future he will not make any appointment with

the help of an outside source.

Explain any four reasons on the basis of which ‘Parth’ would have taken the

above decision.
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